FIRST TERM EVALUATION 2023 - 2024

MATHEMATICS MM - ANSWER KEY 903
Qn Key Score
no.

1 23@@3 4 uIOE@IBS BIBMI BaldR(EIBIMIe 2 MIBH:0@ afl@o . ( Answer any 3 )
a) 18 .aLeau.adl. 1
1 2
b) 2 eau.al 1
£ a) 4 1
10 2
1
b) 0.4
3 |a) 2x + 5 = 25 1
2
b) x = 10 1
4 |a) 2v/2 equ.dl. 1
2
b) 2V2 X 2V2 = 8 aLeau.dl 1
5 oy@d 10 cuieoe@8s 6382 @alda(@mImMe 3 MIEH:0@ nll@o . ( Answer any 4)
5a)10><%=4ocm.aﬂ. 1
! 2 | 3
b) EXG X 4 = 12 aremu.al
6 |a) 0.1 1
3
b) 0.1 + 0.01 = 0.11 2
7 40 1
— = 20
a) < 3
2
b) mige = 12 eu.al , alm = 8 edau.al
" .
9 1
3
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) a) % = 2 emu.al 1
1
b) 2v/3 eau.d. 1
) 2\/3 X 2\/3 = 12 aleau.al.
10 a) g = 3 eu.adl 1
b) AP =5 — 3 = 2 eau.dl 1
QB =5 — 3 = 2 eaquadl 1
11 2y @3 21 Quee@88 638 G21d3(EIMIe 4 MIEH:0@ aflmo . ( Answer any 8 )
11 (a) 10 avreau.adl. 1
b) 20 :10=2:1 1
¢) ADOC a@pesaleqisal = 10 X % = 5 aLequ.al 1
elosnico ABCD @jes aleqjgal = 20 + 10 + 5 + 10 = 45 arequdl. | 1
1200 2 =022... , 3= oaa... 2
9 9
b)§=0.666... 1
9
2
) 6—0.222... 1
13 |a) 52 = 5 X 10 + 2 1
b) @rsesEnud X , Y agOmsyomocd , 1
X+ y =13
10y + x =10x + y + 27 ==> y — x = 3 .
muoery = 58 1
14 1a) V6> — 5° = y11 1
b)
3
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15 a) 1 16 166
10 ° 100 ’ 1000
b) 0.1666 . ..
16 |a) (V5] - 22 =5 -4 =1

1 XJ§+2

b)JE—z J5 + 2
_ J—5+2
(V5] - 2

=5 + 2 = 4.236

17

a) 3x + 4y = 68
4x — 2y = 10

b) 2(4x — 2y) =2 X 10 ==> 8x — 4y = 20 +

3x + 4y = 68

11x + 0 =

3 X8+ 4y =68 == y =

88

88
==> X = —
11
ﬂ = 11
4

18 |a)
b)
19 |a) V36 = 6

b) V12 = V4 X 3 =2 V3 == «x
) 243+ 43 =343

2

d) J£=JZ=2
3
20 | . 4125
a) 222
1000
by 33X 125 _ 33 _ 66

8 X 125 8 16
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21 |a) 5x + 3y = 108 1
3x + 5y = 84

b) 5(3x + 5y) =5 X 84 ==> 15x + 25y = 420 — 1

3(5x + 3y) = 3 X 108 ==> 15x + 9y = 324

0+ 16y = 96 ==> y=%=6 1

5x+3X6=108:=>x=%=18 1

22 oy @3 29 ueE@8S BICMI @aldB(EIBIMIe 5 MIEH:@ allmo . ( Answer any 6 )

22 |a) AD=%=5mu.as1. i

b)%x5x4=10 al.emu.al. 2
2
) % X 10 = 5 aneau.al
23 |a)
5 Qi@ado mymi 5 QUBaU@BIM GUdnHo
enuoenRileng (1o@o X — 5 X+ 5 2
b) oadlldlong (oo y — 5 y + 5
¢ x—-5=4(y—5)==> x— 4y = —15 )
x+5=2(y+5)=> x-2y=5
1
1
1
1
1
1
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25 |a) 2 eau.al
b) 2+ 1+ 43 =3++3=4732 equ.d.
V3 +1+ 3+ 1=2+2V3=5464 eau.cl.

d) V3 — 1= 0732 emu.d.

26
R0 82060 10 &g ox@ile:ud BUdIoLRMYnl0
1 5
= Ty 0.5
2 10 | e
1 1 5 25
5+ 7 —+ — 7
2 4 10 100 05
1.2,2 % 12050 1102050 0.875
2 4 8 | T e B
27 a)x+y=ﬂ=30
b) x X y = 216
0 x — y =430 4x 216 =6

d x = 18 , y 12

28 |a) 30 areau.al

b) AADC apesaieqsal = ABDC a@pes aleqsal = 60 aleav.dl

¢) ABRC apes al@qjsal =60 X % = 40 aveau.dl.

AABC apesal@qsal =60 + 60 = 120 avreau.dl.

29 |la) 17 18 19 20 21 22 23 24 25

26 27 28 29 30 31 32 33 34 35 36
b)1 , 4, 9 , 16 , 25 , 36
¢ 10° = 100

d) n’
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